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e head
o ear left

o ear right

o eye left

o eye right

o cheek left
o cheek right
o nose

o mouth

o tongue

https://codepen.io/daybrush/pen/jxBRbp
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.ear {
position: absolute;
width: 35px;
height: 100px;
background: #FCBFCA;
border—-radius: 50% / 100% 100% 0 0;
border:3px solid #333;
border-bottom: 0;
top: 200px;
box-shadow:#fff Opx Opx Opx 6px inset;
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<div class="cony">
<div class="head">
<div class="ear left'"></div>
<div class="ear right"></div>
<div class="face">

<div class="eye left'"></div>
<div class="eye right"></div>
<div class="cheek left'"></div>
<div class="cheek right"></div>
<div class="nose'"></div>
<div class="mouth">

<div class="tongue"></div>
</div>

</div>
</div>

</div>
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.cheek {
background: #FCBFCA;
width: 40px;
height: 20px;
border—-radius: 50%;
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.cheek {
background: #FCBFCA;
width: 10px;
height: 2px;
box—shadow: O@px Opx 5px 5px #FCBFCA;
border—-radius: 50%;
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<div class="body">
<div class="arm left"></div>
<div class="arm right"></div>
<div class="leg left">
<div class="foot"></div>
</div>
<div class="leg right">
<div class="foot"></div>
</div>
</div>




